Dimensional Analysis Exam Review
1) How many kilf)_rp_g;ggs are there in 2.34 meters?
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2) What conversion factor would you use to change

_kilocalories to calories? LD “ acw
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3) What conversion factor would yo convert

centimeters to meters?.
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4) 270 kg =
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6) 63 cm =

mm
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8) How many seconds are there in 2?60 years?




10) How many atoms of gold are in
(1 atom of gold = 3.271 x10™ g)
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11) How many grams per milliliter are there in 5.78

kilograms pTr liter? \0006,\\46
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12) An object is traveling at a speed of 7500.0
centimeters per second. How many kilometers per day

is this? oS _ vmid .
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13) The speed of a rocket is measured to be 145.3
Kilometers per hour. How many meters per second is

this? ootwm=lvm
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14) Chemists have determined that 18.0 grams of water
consists of 6.02 x 10*° molecules. Assuming that a

teaspoon 6on holds 3.70 mL of wate er, determine the number
of molecules in 1.00 teaspooon of water. (One gram of

water equals one milliliter of water.) Ha0 Ko
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15) You're throwing a pizza party for 15 and figure each

person might eat 4 slices. How much is the pizza going

o cost you? You call up the pizza place and learn that
each pizza will cost you $14.78 and will be cut.into. 12
slices. You tellthem you'll call back. Do W

enough money? W‘
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